BIEE{TETE (3 8~128)

A = iy = B 1T k=t 5 it
E NRETIRE EXTDHUVHIA(~4/3) BEINMARE
2 A (EXWERIFIREN R AEEIH) BEIWTES
6 4 (EXHERIFIREN R A<E(E2H) BIHTES
7 T FYXTIRATANIL, BOEIEBES BEIRAREE
8 H BEINMETFEHAREGEKS EEHETHN
12 PN (EXHERIFIREN R ALE(EIR) BIHTES
14 + BEIDEREXMERSAK BEI PR
3 17 X ETYHE-ETRSHHEZEX BEINHE. EXEHHEER
19 PN BI/NER-EIE/NERERITEREAK BE/NER. BEERE/NER
21 + VEDYRER-ORERREBEZER VEDYGRER. IRERREERE
22 S| B0E xhRA EOREZEINSNHDE
23 A (BEXMER]IFIRESE A=E(F4H) BIHTES
25 7K (BEXHER]IFIREN R AKE(ESH) BEIHTES
28 * HEERE0RAFERSEE FEOI/(4T3)—a Y —+ EIATMKELE
29 H BEIMAREFTFEFER Bl- A\BEIRRS BEIRAREE
328> KBS TYTEDYintkis HEDE
5 B BEEEDAEB A AR BEATH K 2—
A 8 7K BEI/NMNER-BIAENER-BEIPERAER BE/NER, BEAE/NER. EEPER
10 il BIYHE-EXEHHEEARR BINHE. EXEHHER
17 & TIEREE BEATHK L 2—
5 28 xR HER20204 ) Ev OB L— BIEETN (BRI ~EF #5E)
7 = BIMCEBEARTREXRE T T BT s KB R hE ER
6 4] BEIMREZ EEETHN
TALLLIITA LA EHlFEEE=R BIATH K 2—
~30 AREERK KEBERE EIMMARE
° 20-21 B-A/# BEFHRAR—YVEH BRIV FHRAFHERAEHIS KB AR
25 4 13:00 ([EXETER]IFEIEEHE A=iEZE(FE4H) BEIBES
25 & BEAHRITBER7TIILOHLEE] _
1 PN 10:30 [FaqAVaYpIE5 (FHHFESTIT) HHEX BIATHE T & XA
1 PN 8:00 |[REEEFINLFEMEFHEH REEF
3 * (BEXETHEBUBERNI0AETOD LI BTN
0 11 = 10:00 [RAR—YTTRXT4/\)L BIEHREEHLE
20 X 19:30 |ANAEEHEEIF—(FE1M@E) BEATH K 2—
25 = 10:00 [BEXF5Lz ZEHTINYINN—HBEET
31~11/30 BEV1=7 T—hEr3)— BT AREE
1 = 13:30 (BEIA—FL BEIPFERAEEE
13 s 19:30 |NIEEHEEIF—(FE2[@E) BEATH K 2—
y 19 /N 19:30 |NIEEHEEIF—(FE3ME) BEAH K 2—
22 = 10:00 [BEFdHLz ZHTIMN YN HEEET
27 s 19:30 |NIEEHEEIF—(FE4ME) BEATH K 2—
29 =| 10:00 (5 FdLlz ZHT IR —YEEET
12 3 VN 19:30 |AHEEFHELZF—(55ME]) BEEIX L R2—




